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N7 %29 agrees with =oK% 529 — 179% R7920 T9R% 9273 K7 929

OVERVIEW

The X713 attempted to refute the initial 1""p of 7V from 1", since ® is more
7 than 7Y concerning a 1272 (according to the a°»om). The X723 replied
that 1" agrees with the ruling of »n"7 that 2°7¥ is more i than 1"
concerning 127p. The ruling of n"7 is based on a 1"p. Our M»d0IN will explain
that notwithstanding that "9 agrees with »"9, nevertheless he cannot utilize
the Y"'p of n'"1 to derive that 0 7y are 217 a 7Y12W.

nvoIn asks:
— 9N 297 999N Y7 N1 19 ON AN ON)

And if you will say; if this is indeed so (that 7°% X170 115 "), let 1" use

the ''? of »''1 to derive the 712w 210 by 27w NR7Y7, instead of using the 1"p of 01p.
The 1"p of n"7 would be learnt this way in regard to deriving a 7¥12w by 0°7v DRT¥ -
— zﬂb‘pﬂ AWAY 270 1NINYAY ND NN Y IMINAN DN

If 2>7v can cause him to be put to death, can they not obligate him to
swear, since swearing is more lenient than the death penalty?!

N1B0IN answers:
— 31 NN PPN 1AV D1 Y 1Y NNMNY H1AT TI91Y NIINT 1Y Y

And one can say; that we can refute this 1"p, why is that 07V can cause
nns», because he is being put to death on account of what they are
testifying -

519199 19599815 *¥aw) NI 9919 NINY N YW AMAY 233 IIND
Can you say so by a nviaw, where he is being sworn on what he is

denying (and not on what they are testifying) as the X7»2 later uses this x>71°0
to refute a 1"p from x"y.°

' See “Thinking it over’ # 1.

? The advantage of this "'p over the 1"p of n"7 is that we cannot refute it by saying Awna72 1K 19w 197 77
7t (as the 8702 later asks on the 1" of 1"7), for in the 1"'p of n"7 there is no 1"5. We derive the 1" from
o7y directly. If 0>7v are so strong that they can impose the severe punishment of 7n, they are certainly
sufficiently strong to impose the lesser obligation of 7¥12w.

3 They 07y are testifying that he committed a capital offence and for that he receives the death penalty.

* The o>7v testify that he owes part of the claim (which he has to pay); we want him to swear that he does
not owe the rest which he denies and on which the 2>7¥ have no opinion. Why should he swear?!

> See thinking it over # 3.

% The X3 attempted to derive 712w by 27 from X"y ny12w as follows: AYIAW 12°°ma 170 12°1R PRY K'Y 7Y
VAW 120w 1T IR T 002 nnaw 227y, To which the X3 answered that the X" is 217 a 712w on that
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SUMMARY

n"3 cannot utilize the 1"p of n"7 to teach us the Ay1aw 20 by 27y NXRTYA,
because from the 1"p of n" we can only derive laws where we are required
to listen to the 0°7¥; however we cannot derive the 712w by 27V NX7YA,
since they are not testifying concerning the remaining money which he
denies and for which we wish him to swear.

THINKING IT OVER

1. mpoIN asks that since 1" agrees with »" he should utilize the 1"p of n".
Seemingly, even if "7 would agree with the 2°n3r1 he should still utilize the
1" of n"3! The only reason the o°251 disagree with (the 1"p of) n"3 is
because they maintain that (concerning a j27p) a person is 7Xn7 N ¥"Y 7K1
X (or that we are 7°712°7 y7nn). However by mImn °°7 as in the case of 11"
these reservations do not apply and they will also agree to this 1"'p. Why does
mooIn need to say that "7 should utilize this 1'? because he agrees with
"2

2. Why does not noon ask that 1"7 should derive his "7 from a 1"'p of 1
similar to the 1"p of n"1? It would go as follows: If 5 which is weak for it
cannot cause 1in°M, nevertheless it can cause a 712w (on something which he
does not testify on), then 27y which are stronger for they can cause 0™,
then certainly they can cause a 712w (just like 1°9) on something which they
do not testify on. mao1n answer would (seemingly) not apply to this 1"p.’

3. MpoINn states that 1" cannot utilize the ' of n"9, since YW av12W2 MXRN
yaw1 x177 1910w 0.0 If the X7mx knew this already, how can the xm3 later
attempt to derive a 712w by MY NXR7YA from X"y ny1aw, we will have the
same difficulty there, as moon himself mentions?!"'

which he testifies and the defendant denies; however by 07y we want him to swear on what the 0°7¥ did not
testify to.

7 See footnote # 1.

¥ See w"wn and 1"nx # 190.

? See previous footnote # 8.

10 See footnote # 5.

' See X"wnny X1n2 XATIAN.
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